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— & & 104,617,000 463,000 105,080, 000
% B & 3 57,799,000 — 57,799,000
B f2 B & K 31,050,000 — 31,050,000
%W Om B EE® 4,220,000 — 4,220,000
N ® R/ KR 20,230,000 — 20,230,000
BFRTBRRLESENS 110, 000 - 110, 000
RUA TR EEE 60, 000 - 60, 000
EEE-—thRERR 90, 000 - 90, 000
mASTHEBEER 1,780,000 — 1,780,000
INENCR RS 259, 000 - 259, 000
B OB OB % & B 13,623,000 — 13,623,000
AT kB E %R 10,653 000 — 10,653,000
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1 B 44,340,000 42.4 — 44,340,000 42.2
2 7 B 5 M 697,000 0.7 — 697,000 0.7
3 FE XM E 30,000 0.0 — 30,000 0.0
4Bt 5 & X £ 190,000 0.2 — 190,000 0.2
b HAEFRENGERAE 200,000 0.2 — 200,000 0.2
bEANBEHRRMNE 300,000 0.3 — 300,000 0.3
THAHAEHEHRR & 6,900,000 6.6 — 6,900,000 6.6
SRIEMRIRNE 90,000 0.1 — 90,000 0.1
It 5 85 B X F & 430,000 0.4 — 430,000 0.4
0 B T 4 # 3,700,000 3.5 — 3,700,000 3.5
11 DBERENRARI 42,000 0.0 — 42,000 0.0
RAaBERUEEE 507,060 0.5 — 507,060 0.5
BEABKRUTFHEH 1,410,235 1.3 — 1,410,235 1.3
4E B xx & = 21,625,360 20.7 420,000 22,045,360 21.0
HE X & = 7,264,030 6.9 — 1,264,030 6.9
68 E IX A 66,550 0.1 — 66,550 0.1
7% Bt & 1,010 0.0 — 1,010 0.0
18 #& A & 4,361,266 4.2 43,000 4,404,266 4.2
19 # o & 1,000,000 1.0 — 1,000,000 0.9
20 = 4% A 2,957,089 2.8 — 2,957,089 2.8
21 & 8,505,400 8.1 — 8,505,400 8.1
m AN B & 104,617,000 100.0 463,000 105,080,000 100.0
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13 = = 592,469 0.6 - 592,469 0.6

2 & 5 g 10,947,719 10.5 7,200 10,954,919 10.4

3K £ & 50,018,860 47.8 412,800 50,431,660 48.0

4 & £ g 10,669,376 10.2 — 10,669,376 10.2

b5 & = 70,565 0.1 — 70,565 0.1

6= K E X & 813,487 0.8 — 813,487 0.8

778 T = 1,098,945 1.0 — 1,098,945 1.0

8 N = 8,858,136 8.5 - 8,858,136 8.4

9 H i3] = 3,258,446 3.1 — 3,258,446 3.1

10 % B g 10,617,272 10.1 43,000 10,660,272 10.1
N & # B & 10 0.0 — 10 0.0
12 & = 7,512,905 7.2 — 1,512,905 7.2
BF X & = 38,810 0.0 - 38,810 0.0
145 & = 120,000 0.1 — 120,000 0.1
m b A 3 104, 617,000 100.0 463,000 105,080,000 100.0
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A (a3 & 21,484,430 20.5 2,500 21,486,930 20.4
% B & 30,630,610 29.3 — 30,630,610 29.2
‘N & g 7,512,905 7.2 — 1,512,905 7.1
1N B 59,627,945 57.0 2,500 59,630,445 56.7
) i3 g 19,252,972 18.4 53,500 19,306,472 18.4
o o®m o B 500,820 0.5 - 500,820 0.5
fH B = F 10,594,763 10.1 407,000 11,001,763 10.5
& kv & 28,720 0.0 — 28,720 0.0
KERUVEE S - - — - —
& ft & 171,010 0.2 — 171,010 0.2
& ] £ 7,993,440 7.6 — 1,993,440 7.6
EBEEEREXE 6327320 6.1 - 6,327,320 6.0
# B F X B 1,098,700 1.6 — 1,698,700 1.6
B R 52 x & 4,573,820 4.4 — 4,573,820 4.4
z ) fs 54,800 0.1 - 54,800 0.0
XKEERBRZEXE 10 0.0 — 10 0.0
¥ ([ & 120,000 0.1 — 120,000 0.1
m A 3 104,617,000 100.0 463,000 105, 080,000 100.0
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